50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN /- W/?T“\%&

=/

I %;i:s‘ﬁ% b\l

|-\ FouFth-Sepiester B.E. Degree Exam
s dditional Mathmatlcs—ll

.§;§Module-1
im%ﬁl -3 -1
fﬁ 3 -1

1

1 & Find the rank of the matri

. 1 0 1
IR 4
% Qﬁ% 0 1

(06 Marks)

b. Solve by Gagss—elmmatlon method:
x—=2y+ 3@% M}, Ix-y+4z= (05 Marks)
c. Find thé g‘%érse of the matrix (05 Marks)

A, 2
2 a. Find the rank of the mat%%ﬁi 2 (06 Marks)
Ve ) 0 %4
b. Find all the elé%%alues and the eigent y@éﬁtor correspondm%*to smallest eigen value of the
11 %i‘ Y @‘
matrix | Js 5 "1 3 (05 Marks)
4 W11 1>

c. Solve b ‘Gauss-eliminatjo; thod:

2X §y+4z=12, 4X+1dy—z=33, (05 Marks)
Module—2
3 - '}Dz +11D+ 6),y %0 (05 Marks)
4 S G4 (05 Marks)
c. Solve y"— 2)?@" 3y =e”* by the;method of undetermined coefficients. (06 Marks)
y OR
2
4 a. Solve g—y +5 3}’ + 6y$;g= O leen y(0)=0, dy (O) 18, (05 Marks)
b. Solve y"+4y' - o (05 Marks)
c. j }2’ 4y = fan 2x by the method of variation of parameters. (06 Marks)
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Module-3 *w ‘
Find the Laplace transforms of (i) 1+ 2t —4¢™ + Se‘t &g ) gos 22t +2t (05 Marks)
—2t —3t
Find Laplace transforms of (i) e”*sin 4t +tcos2t (11)%" . (05 Marks)
. . . “gm 3t, O0<t<2
For the periodic function f{t) of period 4 defined by, T (t) = , find L{f(t)}.
" 7 6, 2< 4&

. R v wfh G (06 Marks)
Evaluate : (i) L{sin2tsin3t} (i) Tfe' (t+1)7%) ! (05 Marks)
‘ (05 Marks)

TS PN
Evaluate L{e""'fm?t dt} %;K%%W
0 g

. N, . R cost; O<t<m
Express f{t) interms of unﬁ%ep function, hence find I; fgt)} , where f(t) = .

% % sint; t>m
‘ 3 i (06 Marks)
ﬁ? Modu;%:
(s ~1)? B
i (i) L & gwﬁ ; B (05 Marks)
Find mvé%e Laplace transform of £ f £5 (05 Marks)
4 MS %S + 13 &éﬁ%‘jﬁ g
L %& /vais i 5 i
Solve 9 +y=sint, y(0)=0by m ) (06 Marks)
dt & A, -
W% ; O’
Find (i) L' {tan"( - j} & (08 Marks)
S 4 *{jm iy
e ;@w
y dx dy
Solve the mmultaﬁeous differential eq&aﬂoﬁs oy +y=sint, pgd—t— +x=cost,x=2andy=0
fort=0 by usméwiaplace transform! @ﬁ% ‘ S (08 Marks)
Y Ay ml@wv
o . p & “Module-5 [ %
IfA, B, C“% re any three events 1 @:ove that W/
P(A QBUC) P(A)+P¢(%)m P(C)- P(AmB) “P(BNC)-P(ANC)+P(ANBNC)
(V5 {% (06 Marks)
‘ﬁ'T‘ﬁere are 10 students of which three are grac;j ates. If a committee of five is to be formed,
W’hat is the probablhtyu%that atleast 2 graduates are there in a committee. (05 Marks)

“Three machines A; @ and C produc@;espectwely 60%, 30%, 10% of the total number of

items of a facfgg The percenta estofdefective output of these machines are respectively
2%, 3% and 44&; 'An item is selected at random and is found defective. Find the probability

d
that the item wmés produced by %achme C. CMRIT LIBR ARY (05 Marks)
o OR RANGALORE - 560 037

State and prove Baye’s (06 Marks)
A problem n mathemz}tléa’% 1s glven to three students A, B and C, whose chances of solving it

are % 3 and — gésgﬁctlvely What is the probability that the problem will be solved?

(05 Marks)
If A and B a?é events with P(A) =—2—, P(AUB) ZZ and P(B) :g, find P(A N B) and
P(A mﬁ;@% (05 Marks)

*% ) of2 **




